R}

RRETBEHEAR (L) FRAH

novotechnik

Siedle Group

TX2R I B & B IERES
BT, H&2E+F, TEEEAHAE300 mm
FitRERIP67

oAl s B DR SR 90m  GR R R A AR IR R A A
&R S AR B RAT RE, B, ENE. A . W%
Besii BB T RE AT 5 TAE, nrR LR F R ITER %
P, FERE A LR AR RS AR BT e B R A Sk R
LN

HeRMMmGRE, Wi/ AR EasE, 28, %
SRS — vl B R BEEUTA 22 L 5 WA SR TEX ™ i BT

e

o ZEHEEE 016 mm

o Pifhsgy P67

o A MK, WARMMASE, BITKERE 5000 7 iKiEs)
° SMHERMET 0.01 mm

o RPEfS, ik £0.05%

o ERATWIR, M5, KAEELHEE

o ] Y AL g sl Sk g T K

W M

5 B L5

z % L

EDAN B (1.4308), WIlERs, M6 SMERLL
B & B v i

HBHL TR SHLUR

i R 1 B4 2 Sl it R

WA 3 £ M8x1 Bl sk

4% PUR DR, 4x0.14 mm?, 2K

H3%:021-5419 1392 4B8T1.:173 1638 6953 Mk :www.tifu-auto.com #f4fi:info@imcortech.cn



H13%5:021-

RRH

31 min.
26
'H\
10 min \@J .
i.i P & [
o
= 13
Alzs
2 , L 4
] fed
8 ] 3
I E
M5x20 IS0 4762
A 41 Nm
< [a]
=
I—| -
=
E @16
[20]
I
@5
)
o
M5

5419 1392 4BT1.:173 1638 6953

mER (B8 ARAF o otechnik

Siedle Group

31,1 min. 2000+10

18
=
3
2]
25
36
4

L]
=T ]

M5 x 20 1S0 4762
s 4£1Nm

@5
t

M5

W%k - www. tifu-auto.com  Hif4f:info@imcortech.cn



AW |

RRELHEAR (L) FRAF

novotechnik

Siedle Group

BEFEY >2 ™>2 ™>2 ™>2 ™>2 ™>2 ™>2 ™2

0025 0050 0075 0100 0150 0200 0250 0300
BSBH BT
AR 25 50 75 100 150 200 250 300 mm
AT 27 52 77 102 155 205 255 305 mm
it PR 1 2 3 4 6 8 10 12 kQ
B 2 7% 20 +%
AT 2t 0.2 0.1 0.1 0.1 0.05 0.05 0.05 0.05 +%
DE®°R:q 0.01 mm
TR IF AR I <1 pA
AL IR 8 R P 5 K LIS 10 mA
FeVF IR R TAEHLE 42 \
it R R S A R A RO R AL 5 ppm/K
B4 (500 VDC) >10 MQ
HuZ R )E (500 VAC, 50 Hz) <100 pA
WS4
AhretE (RSFA) 86 111 136 161 224 274 324 374 +1mm
BT (RsFB) 30 55 80 105 158 208 258 308 +1mm
ity s R OF D) 30 50 70 90 140 190 240 290 mm
LA Ghboetd /M (RS E) 15 20 25 25 35 35 35 35 mm
ik
e Js (101) 100 110 120 130 150 163 190 205 g
Mgl (202) 120 156 160 177 190 225 250 270 g
TAERN
KT
T 1 77 1f) <5 (fERT=20°C i)
JAdhL K15 ()
TS
AR S Witk -40 .. +85; 4. -20 ... +100 °C
T AR BEFE 0..95 (Ji&HE) % R.H.
HidRaEbR ik 5 ... 2000 Hz

Amax =0.75 mm

amax = 20 g
uipdibride 50 g

6 ms
Hi i >50 x 10° /g
I KB AT 5 m/s
Bl % 2% IP67 DIN EN 60529 (1 /il IP67 55 & % L 142 5 )

A Bi%: 4% IP67 Z4E DIN EN 60529 M2 T Ui«
FE ORI, B 0.5 /I,
AEATD 1 7 B AR S AR T, AT ek sl A PTG o AR A 7 i i e 2 M

*) RV IR EIRL )ALV SRR SRS HE R AT e AL I S A MR (R 15 N) .

H3%:021-5419 1392 48T1.:173 1638 6953  Muh:www.tifu-auto.com [f5f:info@imcortech.cn



RRBEEAR (L8 FRAF 5vorechnik

TTIE A% 15t AR
BSED
002: #Pft
BSERE
101: 3%FMBx1IE:k, Felifhth
202: NTHRHEARMSL, 1204
T X 2 - 01 5 0 - 71 7 -0 0 2 -2 0 2
E3]] MR
7 REF
HUAE TN
1o AR AT A MBREL
BitR &R
7: MNGRIAT, IP67
IiEEREEE
0025mm#0300mm
RENEEIE

o 2 AR, 24 M5x20 2T

BEHT (FHMTH )

PUR HL8E, 7 3 £F M8x1 M EH:J, 3x0.34 mm?2, IP67, At Bti
o 2kHigy, MYE. EEM33-64, rmigwS: 005617

o 5okHigy, WS, EEM33-66, rm&4mS: 005619

o 10kHgE, WS, EEM33-68, MH4iS: 005643

PUR HL8E, 7 3 £ M8x1 M85k, 3x0.34 mm?, P67, Aqibikk
o 23kHigy, M. EEM33-65, m&4wS: 005618
o 5okgi, M. EEM33-67, &S 005620
o 102kHidi, A5, EEM 33-69, F=fm%as: 005644

] 4 TR S A B R LB

o FREHk Z-301-M5/M5
o BRIRE:J Z-GO1

FEimgm s 058002
P s . 056014

o WREREEHIETE MAP . ATHNES R
o [EEEEHLE MUP .../ MUK ... TAERJE 24V, Frdefs S

HL35:021-5419 1392  4(T1.:173 1638 6953

Siedle Group

ZHLA

Ji T ER e LR T 5%
T 32 ), SRR R AR R
FRLAT B 2 75 A AT 7 Y
PESEFOHLBR I BR IR 22, fi A% i
WRERIG,

15 B W = Hp B 51 2 1k
B, REM ARG, MR, b
AT P BELAE Fin 43 FETE 3K i
FRCERUE, RAR RS TARLE
VLB SRR 23 A o v e i th 2%
St L RZY WA, ELIE R AN
IR (e < 1pA) 451,

——o 1
“1r- 22 4
i
L—o03
EEM 3364 EEM 33.65 B el
sk HiHmL S EY
&S 101 HE 202 EEM 33-64 / -66 / -68 / -65 / -67 / -69
A kit ke
4 [SRC) A
3 ot W
© 02/2014
mHEX,
WA THA,

3% :www. tifu-auto.com

f 46 :info@imcortech.cn





